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a b e
If [{ m n| =2, then whatis the value
P q r|

' 6a 3b 15¢c
of the determinant | 2/ m  5n ?

2p q ar

(a) 10
(by 20
(c) 40
(d) 60

Let X be the set of all graduates in India.
Elements x and y in X are said to be related if
they are graduates of the same university.
Which one of the [ollowing statements is
correct ? .

(a) Relation is symmetric and transitive
only. :

(b) Relation_ is reflexive and transitive only.

() Relation is reflexive and symmetric

only.

{d) Relation is reflexive, symmetric and
transitive.

If x% + y?f = 1, then what is w

o 1l+x—iy

equal to ?

(a) x-—1y

(b) x+ 1y

(¢) 2x

(d) -2iy

Consider the following statements :
_ - T
1.  For any three vectors a, b, c;

2. (b +T)Ix(a +B +2)=0

2.  For any three coplanar unit vectors

3, ?, ?; (3 X g).? = 1:
Which of the statements given above is/are
correct 7 :
(a) 1 only
(b) 2 only
(¢) Both 1 and 2
(d) Neither 1 nor 2

Q-OEBA-K-NBU {2 -

Directions : For the next .3 (three) questions to
follow : ¥ Yo

Consider the following lists :

Each item under List I is associated with one
or more items under List II.

List I ‘ List IT
(Function) ' (Property)
A sinx 1. Periodic function
B. cosx 2. Non-periodic function
C. tanx 3. Continuous at every point
- oM (oo, ea)

-4, Disecontinucus function

5. Differentiable at every
point on (- s, ) '

6. Not differentiable at every
point on (— oo, 00)

7. hasperiodm
- 8. has period 2n
9. increases on (0, 1/2)
10. decreases on (0, 1;/2)
11. increases on (7/2, n)
12. decreases on (n/2, )
5. A is associated with
(@ 1,358 9,12
(b) 2, 4,6,8,10, 11
@ 1,3,5 7 10, 11
(d) None of the above

‘|6. B is associated with

(a) 2, 35,8 9,12
® 1,358, 10, 12
¢ 1,3,58,9, 12
(c'_i) None of the above

i Cis aésociated with
(a) 1,4,6,7 9, 11
(b) 2,4,6,8 9
() 1,4,6,7,9
(d). None of the above .

A)
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p q T
‘ 6a 3b 1b5c
IR |22 m Bn| HATFME ?
2r q 5r
C(a) 10 |
{(b) 20
(e) 40
d) 60 .

o AT B WRet 3 W TR @ e X 2|
X ¥ W x 3R vy grafea og I € aft 9 =W
fvafiaca ¥ Tae 2 | Frafeleg § @ o @
T A & ? _ | |

(a) I Haw TR AR GEED ¢ !

(b) e A g AR 9IS ¢

() W Hae wWaqed iR wahE § |

(d) W= ¥aqed, WRiE. R e E |

gie x2+y?=1, @ Ltxtly o AW T P

14+x—iy.
(a) x_iy +X ‘ly,
(b) x+ iy
{e) 2x
(d) -2iy
.k .
. efeiEg ol w TR ofEe

1 fdidmeRal 2,05, C bR
Z.{(E+E’)x(3+g+?)l_=d

2. &= 4 auaca mEs e
3,2,? ﬁﬁ—m;(ﬁ’xé’).?=1

uffa mol 3 & B AR R o

(a) ®ad 1

" (b) &ad 2

(¢) 13k 22T

@ Fa1RkaTd2

(3-A)

Bl : o 3 () we & B -

Frefafa gt o faar Hifsw - ‘

e 19 R g0 sl weer g 11 & o e

a1 eIt sl ¥ watd g |

G T 11

(wT7) )

A. sinx 1. 3mgdl BeH

B. cosx 2. 3rEdt werd

C. .tanx 3. (—m,m)ﬂémﬁﬁﬁﬁﬁﬁ _
4. 3EAd B
5.

(oo, =) & TR §g W

B o

6. (—o, ) & 5D fog W
IS A

7. Ed® 7 alel &
8. 3Nad® 2n awem &
‘9. (0, n/2) R aefmam &
10. (0, n/2) W FAA &
11. (n/2, 7) W aHae &
| 12. (n/2, 1) W gTHAAE & -
Afru/fen @ oefem & 2

(a) 1,3,5,8,9,12
(b) 2,4,86,8,10, 11

) 1,3,5,7,10, 11

(@) JuRRRET @ @8 78

o B S

(a) 2,8,5,8, 9, 12

() 1,3,5,8, 10, 12

(¢ 1,3,5 8,9, 12 _
(@ Rl § ¥ o T8

¢ foa/fem & Tt & 2
(@) 1,4,86,7, 9,11

) 2,4,6,8,9

(© 1,4,6,7,9

(@) TaRfeRed & ¥ P =7




If p and g are positive integers, then which

8.
one of the following equatlons has p - \/E as
one of its roots ?
(a) x2- 2px - (p2 -q=0
(b) x*-2px+(p2-q =0
© x2+2x~@p>-q)=0
(@ x*+2px+(@?-q =0

9. Given two squares of sides x and y such that
¥ = x + x%. What is the rate of change of area
of the second square with respect to the area
of the first square 3
(a) 1+ 3x + 2x°
(b) 1+ 2x+ 3x*
(6) 1-2x+3x2
@ 1-2x-382 - oA

10. The planes’ px + 2y +22~-3=0 and
2Xx -y + 2 + 2 =0 intersect at an angle
n/4. What is the value of p? ?
(a) 24 a
(by 12
(c) 6
(dy 3

11.  The growth of a quantity N(t) at any
instant t is given by Sk o N(t). Given
that N(t) = ce® ¢ is a constant. What is
the value of a ?
{a}) ¢
b) k
{c) c+k
(d c-k

' 0-QEBA-K-NBU

12,

13.

14,

15,

(4 - A)

A circle is drawn, with the two foci of an

2 2

x_+y_

ellipse
a® b2

1 -at the end of ‘the.
diameter. What is the equation to the circle ?
(@) x*+y*=a+1b?

{b) x2'+ y? = a2 - p?

(€ x%+y%=2(a% + b?)

(d) x2+y?=2(%-b®

What is the image of the pomt (1, 2) on the
line 3x +4y—-1=0 ?

{a) (_Z, .._..6_]
5 5

(b) (3, l)
.8’ 3

If the product of' the roots of the equation

-b5x + k = is' — 3, then what is the
value of k ? '
(a) 12 '

(b} 15 ' §
(c) 16
(d) 18

Consider the following statements :
1.  Every function has a primitive,
2. A primitive of a function is unique.

Which of the statements given above is/are
correct, ? ,

{a) 1eonly

(b) 2 only

(¢} Both1land?2
{d) Neither 1 nor 2




10.

11.
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2 /

R p AR ¢ s Wi ¥, o Pk
ol § 3 s vw qW p- Ja 2 2

(@) x2—2px—-(p*P—q =0
(b) x2-2px+(p2—q) =0
0 x2+2px—(p2~q)i=0
() oF o B TpP ] =00
ARy x 3R y I A FwmweR € 5

y=x+x% @ g @ & &Fnd & 9Rad B
ued @ & Bomd & e oy # P

{a) 14+ 3x+ 2x%
(b} 1+ 2x + 3x°
() 1-2x+ 3x2

(d)’ 1 - 2x — 3x2

| {wad px+2y+22-3=0 3R

2X -y +2z+2=0 &I YE-PT nf4 8 |

pPaE R g ?

" (a)y 24

by 12
(c) 6

d) 3

6 &0 t ) FE Nt @ afs %Etl = a N(©)

FRIAge | oR kg e N(t) = cet, ae ¢

UH AR &, A o & 99 T & ?

(a) c
by k
(¢} c+k
) c-k

12,

13.

14,

15.

(6 - A)

o X L o1 e et @ o
a
mﬁgﬁéﬂuﬁﬁ@mw%‘l@aﬂm

am‘s‘?_

(a) x2+y2=az+b2
(b) x"‘)+yz.--=a2--b2
) *%+y%=2(a%+bd
@ x?+y?=2(@%-bd

. %@3x+4y_i=om%g(1,2)asr%xam%?

R e 2 - 5x 4+ k = 15 B g @

TAGA —-3 %, @ k & OH & g ?
{(a) 12
(b) 15
(c) 16
(d) 18

Frafafes & ) Tar $ifse

1l YRI® BeH B 0P g9 # |

2. T wo & g s dar g |
TRt s A A R a@ dE 2
(a) wad 1

(b) a2

(¢) 13k 2=t

@ "arisikade




16.

17.

18.
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If A={a,b,c, d}, then what is the number of

proper subsets of A ?

(a) 16
(b) 15
{c) 14
(d) 12

What is the number of three-digit odd |

numbers formed by using the digits 1, 2, 3, 4,
5, 6 if repetition of digits is allowed ?

(a) 60

(b) 108

() 120

(d) 216
5 6 1

Let A = . Let there exist a
2 -1 5

35 49
matrix B such that AB = -|. What is
29 13

B equal to ?

5 1 4
(a}

2 6 3/

2 6 3
(b) '

5 1 4

5
(c) 1

4 3

(2 5)
d (6 1

3 4

19,

20.

21.

22,

{6 - A)

(d)

4

Consider the following statements :

1. The probability that there are 53 Sundays
1n a leap year is twice the probability that
there are 53 Sundays in a non-leap year.

2. The probability that there are 5 Mondays
in the month of March is thrice the
probability that there are 5 Mondays in the
month of April.

Which of the statements given above is/are
correct ?

fa) 1only

(b) 2 only

{¢) Both1land?2
(d) Neither 1 nor 2-

Consider the following statements :
L-If A" = A, then A is a singular matrix,
where A’ is the transpose of A.

2. If A is a square matrix such that A% = I,
then A is non-singular, '

Which of the statements given above is/are
correct ?

(a) 1 only

(b) 2 only

(¢} Both 1 and 2
(d) Neither 1 nor 2

I_f 'p times the pﬂ" term of an AP is q times
the ' term, thén what is the @ + @

" term equal to ?

(@) p+gq
b pq
ey 1
d 0

A team of 8 players is to be chosen from a
group of 12 players. Qut of the eight players
one is to be elected as captain and another as
vice-captain. In how many ways can this be
done 7

{a} 27720

(b) 13860

() 6930
495




. .
. # .

16, TR A=lab, ¢ dl, @ A% A T @ |19
qE w2 .

(a)
. (b}
(¢

(d)

17, O Fidt Te Fe St i) 1, 2, 3, 4, 5, 6 & |

I 9 oS T ¥ | o afet @ geR WA
2, @ W e e € 2

60 '

(a)
(b)
(c)

(d) 216
. 5
18. mﬁ%@ﬁsz\:[z
%umamgB’@m%’%AB:(: 49],?1#

B @r & .7

{c)

(d)

0O-OEBA-K-NBU

16

15

14

12

108

120

20'
6 1
5} sl w s
13
21,
22.

{7 -A}

ﬁﬁ%ﬁﬁamﬁmﬁmaﬁm:
1. 58 fw ad F 53 War 27 o wiawar =t

Rl 39 ¥ 53 TR B B WD B g
& :

- 2. uid 7AW o 5 WwER BN &) wiidesar 3t wen

# 5 HarR @9 o i A for & |
FaRfeRaa § F S TR vom w &E 2
(a) odd 1
(b) a2
(© 13k 22T
(@ AT 13ARTE 2

Frafefeg sl w ffar Sifse -

1. gk A=A @ AE sgeig agg 2,
ST A ? AT ORad |

2. AR ABE af R @ VAR & i AS = 1,
ar A aeaeia # |

JoRfefas &9 o ad oum wd & »

{a) oad 1

(b) &IA 2

(¢) 13tk 2=t

(d da@r1sikaT2

afE fee TR 40T & pd UE & p T IS qd
92 & q T &, @ (p + q)at U2 T5ad aeaR & ?
(@) p+q

(b) pqg

{c)

{d}

12 Rl & Rt wig @ 8 Reenfzdl @ o

e g ST & | 39 3o Reenfsdl ¥ ¥ v B
FEH 3R gE B IW-FAF g FA 8 | G

fvem voR 3 fopar o GHaT & 2

(a) 27720
(b) 13860
(c) 6930
(d) 495




23.

24,

In tossing three coins at a time, what is the
probability of getting at most one head ?

(a) %
) g'
() %
@

What is the sum of-the coefﬁments of all the
terms in the expansion of (45x — 49)* 7

- (a) -256

25.

26.

Q-OEBA-K-NBU

(c)

by . —100
(c) 100
(d) 256

Two balls are selected from a box containing
2 blue and 7 red balls. What is the probability
that at least one ball is blue ?

2
(a) §
7
(b) 3
5
12
. 7
(d) Tg

If the equation x> — bx + 1 = 0 does not

possess real roots, then which one of the|

following is correct ?
(a) - 3 <b< 3

(b) —=2<b<2

(¢ b>2

(d b<-2

27.

28.

29I

30.

{8~ A)

(a) 2
(b) -3
(c) 4
@ 6

The probability of guessing a correct answer4s -

1x_2. If the probability of not guessing the

correct answer is 37 then what is x equal to ?

If the system of equations 2x + 3y = 7 and
2ax + (@ + b)y = 28 has infinitely many

solutions, then which one of the following s

correct ?

(a) a=2b
(b) b=2a
(¢) a=-2b
(d) b=-2a

If p and gq are the roots of the equation
x2.— px + g = 0, then what aré the values
of p and q respectively ?

(a) 1,0
(b} 0,1
(¢ -2,0

d -2,1

Consider the following statements related to a
variable X having a blnomlal distribution

by(n, p) :

1. If p= —%, then the distribution is
symmetrical.

2. p remaining constant, P(X = r) increases
a5 n increases,

Which of the statements glven above is/are
correct ?

(a) 1 only

(b) 2omly °

{c) Both 1 and 2
{d) Neither 1 nor 2




24.

25.

- 26.
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. (a)

23, 'wwﬁﬁmmmﬁﬁmﬁmw

9 9 B B wiitdr a9 & ?

(b)

{c)

oei= M|~ o|=3 oolw

(d)

(45x — 49)* %ﬁﬁ'ﬂvﬁrm?rqa‘r%ﬁgmmm
21105l 1)

(a) —2b6

(b) —100

(c) 100

(@ 256 |

T G § 2 et 3k 7 o i # B A R
o IR # | gl o miyda € 76 aH-9-aH Ue
iz At g ?

2
(a) 5
7
(b) 3
5
(e E
7
4 =
(d) 12
aft ERor, k2 - bx + 1= 0 ¥ ARG T

T o PeRfer f e S wd @ 2

{a) =3<b<«3

(b} —8xbe?
© b>2
() b<-2

25

28.

29,

30.

7 T TR A T B W = 8 o

ﬂﬁmmmqmaﬁmﬁmgé,ﬁxa

TH T ?

(a)
(b)
(c)
(d)

o J SR - B e

- i E‘fﬁaﬂmﬁﬁm 2x‘+3'y=7 G2

2ax+(a+b)y=28 ¥ 3 'a &,
feffen i a s ar a2 ?

(a) a=2b

() b=2a

{fc) a=-2b

(d) b=-2a

Ti& THIHLT x2—px+q=0 $Wp3ﬁ?q’§..ﬂ
p 3R q & 9 HASE TE ?

(a) 1,0

) 0,1

© -2,0

e T byn, p) @@ W X J W@t
Frafofes s R foar it

1. ﬁp:l,ﬁmmﬁﬁ%"l

2, pIRE APX=r1 aﬁnm%a'anaﬁm:r
g1

oRffea wert & o TR TR 2
(a) e 1

(b) waw 2

() 13R 22

) FaAr13iRaET2




31.

32.

33.

34.
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What is the number of ways of arranging
the letters of the word ‘BANANA' so that
no two N’s appear together ?

(d) 40
(b 80
{c) 80
(d) 100

Consider the equation (x = p) (x -~ 6) + 1 =0
having integral coefficierits. If the equation
has integral roots, then what values can’p

© have 7

(a) 4or8
(b) 5or 10
(¢) 6orl2
(d) 3oré

What is the equivalent binary number of
the decimal number 13:-625 7

(a) 116;-111
(b) 1111-101
(c) .1101-101
(dy 1111111

What is the value of

(H,@ }20" . (i'_ﬁf"“ .19

r—-" i+/3
(@) | -1
(b) ©
@ 1
(d 2 .

35.

36.

37.

38.

{ 10 - A}

g

The order of a set A is 3 and that of a set

B is 2. What is the number of relations
from A to B ?

(a) 4
(h)y 6
{c) 32
(d) 64
log — (H)
What is the value of ]—J"__(ﬁ) ?
0g o

(a) 1o.g'0t[3 (o)
()  logy, (af)
(c) logun (xPy)

(d) lngap.(ﬁ)

The 59 term of an AP is 449 and the
449%™ term is 59 Which term is equal to
0 (zero) 7

(a) 501% term

) 502" term

(© 508 term

(@ 509t term

For a set A, coﬁsid-er the following statements :
1. AU PA) = P(A)

2. {AINPA)=A
3. PA) - Al = P(A)

" where I denotes power set.

Which of the statemcnts given abovc is/are
correct ?

(a) 1lonly -
() 2 only

() 3only

(d). 1,2 and 3




1. ol ‘BANANA® % 3R @1 59 VoK Gt &30 |35,  ¥ead A @ WA 38 IR OF 9YEd B &
! %%aﬁ%a‘mwmam s> | | 2F| A B o Wl & e @ ?
(a) 40 | i ) 4 -
(b) 60 | by 6
(© 80 | e, (©) 32
WS A | @ &

| | | 1 H

39, s i T AT (- p) (k-84 1= 0 g A
ﬂﬁﬂﬂﬁ%ﬁulaﬁﬂﬁaﬂmﬁg\awﬁm% ap « Tog o EL)
@ A AT @ e ¥ 7

& AN TS P

. ; (a) - logaﬁ (o)
(a) 43uar8§ .

= . A {b) logam, (ap)
b) 5 arerE 10 .
) (c) .logaB (P}
w |
(c) 3rerar 12 @ log,y (B)

(d) 3 FHaEr6
37. ﬁﬁwﬁaﬂswmcm%sﬁ?@wqa

592 | aﬁqmqaotsfu)% ?
33. .U YN 13-6256 H WA ﬁam'?r =

e ? (a) - 5014l g
(a) 1101-111 L (b) 502dI &
(by 1111-101 T (c) 50881 Ug
() 1101:101 - (d) 5099 W&

(d) - 1111111 38. Fod wema A % fe, frefefed oot ® R

. : ‘ . @I
34 .m0 S . ' 1. AUPQA) = PA)
- '(_1+J§) ¥ (i+\/§] vl 2. {AINPA)=A
’ | 3. P(A) - IA} = PA)
FOA FAE P
. e P @ 3 & o ged |
@ -1 | ot e @ B R T
(b} O | (@) ¥aE 1 _
' (b) e 2 *
© | ' (¢) ad 3
L @ 1,233
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-39, If the AM and HM of two numbers are 27 and |43. What is the maximum poinﬁ on the curve
12 respectively, then what is their GM equal x = e¥y ?
to ? . :
np—— I ' (@) (1, e
(b) 18 . (b) (1, e
(C) 24 (C) (e’ 1)
. : rd
-(dy 27
| d L1
? 1 1 ' .
40. If tan A= - and tan B = =, then what is -
2 3" ‘ 44. The function fix)=e*, xeR is -
the value of (A+ B) 7 , :
(a) 0 : o _ {a) Onto but not one-one
m
(&) 4 (b)  One-one onto
: n . .
(c) re (¢) One-one but not onto
d
.( ! ® (d} Neither one-one nor onto
41. If (4, 0) and (- 4, 0} are the foci of an ellipse _
and the semi-minor axis is 3, then the ellipse oty A% o dy
passes through which one of the following S (14_4)(2} ther whiat s dx eopal
" ; .
points to 2
(a) (2,0)
b (0,5 | @ —
’ ' 1+4x?
(e) (0,0
(d) (5, 0) '1
(b) - 5
: 1+4x
42. Under what condition do the planes
bx ~ay =n, ey —bz=1I az-—cx=m ,
intersect in a line ? ‘ ‘ 4
{c
(a8) a+b+c=0 : ' ! 1+ 4x2
b) a=b=¢
(¢) al+bm+cen=0 ) ’4x2
1+4x
(d) l+m +n=190
Q-OEBA-K-NBU : {12 - A )




" 39,

40,

41.

42,
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uﬁamﬁﬁmwsﬂwaﬂmm

Faer: 27 3R 12 &, 1 39 iR A 91 8 ?
@ 12 | |

(b) 18

(c) 24

(d) 27

afe tanA:% .SﬁT_tanB= , @ (A+B)

1
3
aarqﬁa?n% ?

(a) 0

(b)

e

(c)

oA

@ =

afe b dnfga & TRt (4, 0) TN (-4, 0) @
IR anfey e 3 8, o foefofea fogat & @
forad Srdaa eRan ? ?

@ @0
© (0,0

@ (5,0

ﬁﬁﬂﬁ@ﬁﬂiﬂtﬁqﬂﬁbx—ay:n, cy—bz =1,

az-cx=m UP 3@ A e & 2
(a) a+tb+ec=0

® a=b=c

(¢) al+bm+en=0

(d !+m+n=0

43.

44,

45.

(13 = A}

{b)

D)

x=¢y & s gan g ?
(a) (1,e)

by 1,
fc) (e, 1)

@ (1

a1 fixy=e*, xeR

(a) JTBRS & W Thdl 8

(b) THD D B
(c) uhar 2 fiog omesEs =6

(d) Jdr vk & 3R 7 € rmEs

a‘fi’l AT TS ?

0o ol 4x
ofg 'y = sin {—] =

1+4.~x2

1
1+4X2

{a)

1+ 4x2

1+4x2

4x
o 1+4x%°




* 46. What is the _valtie of A for which the vectors {50. What is the deri&ative of.'

A A A n & A A, A A ’
1 S I k, 2i + ] —'.k, }\.i -1 + Ak x'az_x2+azsin_1(i) ?
are coplanar ? a
(a} 1. {a) a?-x?
(b) 2 :
(b) 24a®-x?
) 3 :
. ‘ 2_ .2 ;
@ 4 _ {e) X wip
d) 2x2-a?
47. What is the equation of the plane through
z-axis and parallel to the line
x-1 y+2 z-3 o ' ol. If (=5, 4) divides the line segment between

cos® sin® 0 . the coordinate axes in the ratio 1 : 2, then

what is its equation ?
(a) xcot®+y=0

(b) xtanB-y=0 5 _ (@) 8x+5y+20=0
() x+ycot®=0 (b} 5x+8y—?=0_
) x-ytan8=0 . - (¢) 8x-5y+60=0
48, Ifthelines 3y +4x =1 y=x+5 and -l 5x-8y+57=0
9y + bx = 3 are concurrent, then what is |
the value of b ? 52. What is the value of
(a) 1 : cos 15°  sin 15° cos 45°  cos 15°
o . L ?
3 cos 45°  sin 45° sin45°  sin 15°
() 6 i
e . (a) =
(d} 0 ‘ 4
49. What is the least value of (b) ? '
fx) = 2x% - 3x2 — 12x + 1 on [-2, 2:5] ? ‘
(a) -3 1 i
(b) 8 | © -3
. () -19 .
d) -165 @ -3
- 4

Q-OEBA-K-NBU {14 - A}




. ) . * A A A - 2_ g RS | E ‘ 5
46. A @ A9 T ¢ oo T sl i_j+k’50. xya® —x° +a®sin (a) @1 JyaGoS ol € ¢
A /.\ A A ,:\ A . .
21 + ] —k, A —J +ak wH@aa & ?
. 22
(a) 1 | (a) a. x
w " | (b) 2 -\_}az ~52
() 3 - .
(d) 4h ' (©) <2 _ a2

x-1 y+2 'z-3 (@) 2yx*-a®
47, @ = el = ¥ T[UR 3R
cos & sin @ 0

z-mmﬁgaﬁ?ﬁwaﬁﬂﬁWW%? 51. a%ﬁ%sn&ﬁ%éﬁ%iwmvgaﬁ(—ay,m

1:2 i Rva e &, A 9o ek &
(a) xcotB+y=0 ) ) &0

(b) xtanB -y =0
: (a) 8x+by+20=0
(c] x+ycotb=0 :

(b) bx+8y—-7=0"

(d}) x~ytan@ =20

. ' i (¢c) 8x-5y+60=0
48, IR WM 8y+4x=1, y=x+5 3R

Sy +bx=3 Wi, A b@ AN TR ? () Bx-8y+57=0
(a) 1
52. cos15°  sin 15° cos 45° cos 15°
(b) 3 y
- &
cos 45°  sin 45° sin 45°  sin 15°
{¢) 6 .
ae w1 g P
(dy 0
{a) 1
4
49, [-2,25] W fx)=2x3 —3x2 - 12x + 1 &
TAH A FME 2 i J3
2
(a) -3
by 8 21 "
: (c). ry
(e} -19
(@) -165 @ -3
: 4

Q-0EBA-K-NBU (156 - A)




53. Out of 32 persons, 30 invest in National [57. What is the geometﬁc interpretation of :the

Savings Certificates and 17 invest in shares, identity (@ — B} Yx (3 + f;) =2(a x b ) ?
What is the number of persons who invest in 1. If the diagonals of a given parallelogram
both ? : . are used as sides of a' second
' . _ parallelogram, then the area of the
(a) 13 second parallelogram is twice that of the
_ given parallelogram.
(b)y 15 ' _ 2. If the semi-diagonals of a given
' _ _ parallelogram are used as sides of a
() 17 . second parallelogram, then the area of
. " the secon_d-par.allelogram is half that of
(d) 19 ' ' the given parallelogram.
: _ Select the correct. answer usmg the code given
54. What are the equations of the directrices of below :
the ellipse 25x2 + 16y% = 400 ? . (@) 1only
(@) 8x+25=0 o (&) 2anly
, o ' _ : , {c) Both 1and 2
(b) 3y +25=0 .  (d) Neither 1 nor 2
&) x+15=0 : /2 v
| 58. What is _[ — dx 7
(d) yx25=0 sin® ¥ + cos® x
. : 0
55. Let A be an n x n matrix. If | (@ =
det (MA) = A° det (A), what is the value of m =
s ? ' 2
2 T
(a) © ) _ . ' ((})_ r
by 1 @ 0
€@ -1 - , 59. The function fix) = from R to R is
) ) : x? +1
i n )
(a) One-one as well as onto
5 :
56. Let E be the ellipse ~— + ¥~ = 1 and C be (b)  Onto but not one-one
' : _ 9 P 9 4 (c) Neither one-one nor onto
the circle x*+y*=9. Let P=(1,2) and o 0 b X
Q = (2, 1). Which one of the following is. (d) | Wriepne huk notenta
correct ? : . ' 60. If A bea real skew-symmetric matrix of order

n such that A? + I.= 0, I being the identity
matrix of the same order as that of A, then
what is the order of A ? :

(a) Q lies inside C but outside E

(b) Q lies outside.both C and E
(a) 3.

(c) P lies inside both C and E- ' (b) Qdd
_(c) Prime number

@ P lesindide Yot binside B
i (d) Eyen

Q-OEBA-K-NBU . - (16 - A)




.53. :

- 54,

bb.

56,

Q-OEBA-K-NBU

32 wRsal A ¥ 30 ¥ § 3 IE T SO

TR daR TR I I a1 0F
wfert & Fear @ & 5 3§ e & § 2
(a) 13 | '

(b) 15

{c 17

@ 19

g 25x2 + 16y% = 400 & Fraamei B
Titeor T & P

(a) " 3x+25=0 -

(b) 3y+25=0

(¢) x+15=0

A e, ABE nxn g E | AR
det (AA) = A® det (), @ s BT 77 &1 & ?

(a) 0O
by 1
fc) -1

; (.d)' n

, | . o
HHF’I’[%IUE%‘E"T@?I%+%=13?\TC'§
g x2+y?=9 ARERE P=(1,2 R
Q=21 R i s arad g ?
(@) QECH MR foog E & T

() Q#CaREHA o

{c) P%csﬂ-{ﬁ:aﬁ'%ﬁm

(d) P& C®H MR fog Ed IR

17 - A

57.

58,

59.

60.

TiaftE (& —g)x(g +'l;)'=2(5.) xﬁ)
@ SOy aead @ § ?

1 of T R T R e B Rl @1 e

@%Wﬂgﬁjﬁﬁ%ﬁﬁaﬁﬁiwﬁm%z

fdar e, A SR HAIWR TS @7 e
T R ST & QW & g 8 |

2. g fofi e 7o wawR agqis & avd-fawoil @
vH G AR agHST B YN & BT H 9gTh
favan Sme, o g EER TgYS © ek e
T AR AgST & &Eha ol e 2T |

99 e e g @ W @R 9 I g

(a) Haet 1

(b) act 2

- (e) 13k 22

(d T 13RI 2

n/2

J' sin® x _
sin® x + cos® x

¢

dx ®M2?

(a)

A

(b)

{c)

e la ol

(d) 0
R R d® BeH flx) =

%2 41

(a) UHS FA ACBES &

(b) 3EEES & fg vhal T8l

(c) + df udd & 3R 7 & sreEes
(d) udar & frwg smoees W@

e A B DIC n T aRALS [SH-JHT ATEE
R € 6 A% + 1 =0, 561 1 T @ &
ToTs AR & o @it & A, i A9 Sife &
g7 ‘ .

(a) 3

(b) foum

(¢) 3TV H&

) 99 -




Directions : For the next 3 (three) questlons to [64. What is the sum of all naturdl numbers

follow : ‘ between 200 and 400 which are divisible by
The table below gives an incomplete fréquency 7 '
_ dlstnhutlon with two missing frequencies f, (a) 6729
and f,. .
- _ () 8712
Value of X | Frequency | (c)_ 8729 -
0 _ £ . ' (dy 9276
-1 ' B 65. The mean and variance of a binomial
3 (distribution are 8 and 4 respectively. What is
2 1 _4 : . PX = 1) equal to ?
3 l 4 : L 1 .
' 3 : {a) —
-4 . 3 2
. The total frequency is 18 and the arithmetic (b) 28
_ mean of X is 2,
: ] ! " 1
61. "What is the value of fy? (e . -2?.
(a) . 4 ' ' .
®). 3 - @
e 2. 2
d -1

_ - T 166.  What is j e X gin x dx equal to ?
- 62. What is the standard deviation ? : I ) .
a (a) e *(sinx—cosx)+¢

(a) . g (b) (sin x — x £os X) + ¢
= (¢) {xsinx+cosx)+c .
5 ; : '
(b) & (d) (sin x + X cos X} + ¢
. 4 ' where ¢ is a constant of integration..
(& — , : ’ :
3 67. Anobserved event B can occur after one of
T : - . . 3
l(d) .'16 ' the three events A, A, A If
g P(A)) = P(A,) = 04, P(A3) = (-2 -and
63. What is the coefficient of variance ? ) ' " PpB I A) =0 25 P(B I A = O 4, |
(a) 2_29 . | PE| A,) = 0-125, what? is the probability of
: o A, after observing B ?
. ) 5—‘1? - e @ s :
‘ - " (b) 6/19
; " (0) 600 » )
; I } s (¢) 20/57
‘ (d) 150 , | @ 2/5

Q-OEBA-K-NBU _ _ {18 - A)




o |
ﬁ%fsf:smﬁ.a'(fﬂ:r)_ba:#%ﬁg;.

61.

62.

63.

Q-OEBA-K-NBU

ey & IRON A 05 3T SRERAr e fear @ B

a1 aRaRa f) 31K f, srEie € |
X &I A4F FRARC

0 £

1 £

2 4

3 4

4 3

o aRaRal 18 ® 3R X & qiaR mem 22 |

f,, @1 A/ a1 g7

(a) 4

(by 3

(c) 2

d) 1

nee G wrg ? 0
5

(a) ?

(b) 3

©) %
16

.(d) 7

YRROT UT T P
200

(a) T
5045

{b) g
600

() —
J5

(d) 150

- 64.

65,

66.

67,

(19 - A}

¥

200 3R 400 % & B 7 A fusy wh gay
(Tepferes) Ramslt &1 Ahe F & P

(a)
(b) -
(c)
(d)-

6729
8712
8729
9276

fooxlt Rue de o A iR weERor muwn 8 AR 4 € |
PX=1)@& T RIE ?

(a)

(b)

(c}

(d)

1
o2

1
F

3
P
1

24

jelnxsinxdx A T ?

(a)
(b}
(c)
(d)

e X (gin x — cos X) + ¢
sinx-xcosx)+ ¢
(x sin x +cos X) +¢

(sin x + X COS X))+ ¢

&l ¢ 0P IUHET-ITR B |

a9 el A, A, Ay @ UEH s M
e B 9 W&l ¢ | Ik PA)) = PA,) = 04,
P(A;) = 02 J1 PB|A) =025,

P(B| Ay = 0-4, P(B| Ay =0-125, @ B & Jawr

& g A, B WiiSar @1 E P

(a)
(b)
(c)

(d)

1/3 ' ¢
6/19

20/57

2/5

’




68.

69.

70.

71,

Q-0OEBA-K-NBU

What is dx equal to ?
x%+1

3

(a) _33—-——){+4tan_1.x+c
.3_-,

by == +x+4tantx+c
K3 e |

(e) —é——x+2tan'x+c
3 1

(d) ?—x-4tan” X +c

where ¢ is a constant of integration.

F

B Xx+4
What is the value of lim ("‘ J 9
. . X —) co x+1_ )
(a) e .
(b) &2
() et
Wy &

What is the area of the triangle with vertices
0,2,2), (2,0,-1) and (3,4,0)?

{a)
(b}

15/2 square units

15 square units

(¢) 7/2 square units

7 square units

(d)

1
If ———— is one of the roots of
2~ -2 - )

ax? + bx + ¢ = 0 where a, b; ¢ are real, then

what are the values of a, b, ¢ respectively ?

@ 6 —4, 1.
b 4, 6 -1
© 3, -2, 1
@ 6, 4, 1

72,

73.

74.

75.

If ®  is a complex cube root of unity and’
X =0 - o- 2, then what is the value of

X2+ dx + 7 ?

(a) -2
(b) -1
“{e) O
(dy 1
If cos x # =1, then what is _Smx
. l1+cosx
equal to ?
X
—col =
(a) co >
(b} cot —

{¢) tan =
(d)
The angle of elevation of the tip of a flag post

from a point 5 m away from its base is 75°.
What is the approximate height of the.flag

post ? : .

(a) 15m

(b) 417 m

© 19m

(d 21m

If A = P({1, 20) where P .denotes the

. power set, then which one of the following

is correct 7'

() 11, 21'C A
(b) 1A
© oA
) {1,2 e A




T _
68. - JXQH dx FHEATTE? |72, o o @ v wE T o ® SR ,
C Y oxT+l , x=0?—0-2 8 @ x24+dx+7 FHT T
' g7 : '
; 3.
(a) %—x+4tgn_]‘x+_c {4l _I_z'
3 | ' | . (b) -1
(b) I{—+x+4tan_1x+c
: 3 . ¢ O
SN : (dy 1
(c) %—x+2tan‘“1x+c . ‘ '
5 | |73 o cosx e -1, @ - TPE . mrummmd e
X ol ~l+cosx -
{(d) ?—x—ditan X +C ' )
. - ' (a) - cot =
S8l ¢ TS FHGEH-3FR 2 | 2
T
b t —
(b} 00.2

. +6'x+4 ) ’ ;
- 69, - lim [x ] HLAF TR ? e _
g x—aee | X+1 (¢). tan — ;

Lol (d) - tan >

b €2 2

) et . . ' : ;

(Z) . 74, 54 @@a-ave & BR & 3999 DU ITS IR I
e

_ : ‘ 5m gl W wd g 757 #1 eeans &
70, @t (0, 2,2), 2,0,-1) IR 3,4, 0@ BF|  emwmwiaE @ s

I &AwE T E P ‘
s . (a) 156 m
() 15/2 o 51 I
(b) 15 aff SR | "
© 72 o W lkm

. ' 1 L
7 AR ax? 4+ bx+c=0 BN A 2_‘{3%75. oft A = P((1, 2) 5 P U wHwd @ afa

' - Fr i IO IR Lo o e s R o B o e
S a, b, c IRATD &, A a, b, ¢ S T BHT ,

g ? @ (L,21CA
(a) .6, -4, 1 . _ by 1leA
0.4, & ) o¢eA

(c) 3, -2;,1

(d). 8, 4, 1 {d) {1,2) e A

0-OEBA-K-NBU - . 21 - A )




76.  The geometric mean of three numbers was 80. In a triangle ABC, BC = 439, AC = 5"anc‘:l

computed as 6. It was subsequently found AB = 7. What is the measure of the angle
that, in this computation, a number 8 was A? B
wrongly read- as 12. What is the correct
geometric mean ? , my O
(a) 4. _ . 4
ol | k) Z '
(b} C;‘/g 3
() 2318 - (o) g
(d) None of the above n
@ -
‘ 6
Let A= | 2| =(a], whe 2| . A5
77. et = = [a,.], here 1, j = 1, 2. : ‘. o i
3 4 fffs TR 81. What is the modulus of % ?
) ) . . 1'-_ 1_1
1ts inverse matrix is [b. ], what is b, ? % Y
ij 22 (a) 1
' (a) -2
b) V5
(b) 1 _ - . :
3 ' © 3
(e) 5 : '
) @ 5 |
d _'_. . . ¥
(d) T3 | ‘ ‘ | |
: . Py 82. If the line through the points A (k, 1, —1) and
~78.  The angle A lies in the third quadrant and it | - B(2k, 0, 2) is perpendicular to the line

through the points B and C (2 + 2k, k, 1), then"

tisfies th tion 4 (sin? = 1. :
satishes the equation 4 (sin“ x + cos x) whiat s the value of b ?

What is the measure of the angle A ?

. " {a) -1

(a) 225° N ' . (b 1
RORET o (© -3
(e) 210° ° : @ 3

(d) None of the above

183. Whatis J L — dx equal to ?
g " ‘ : ' L
. 79, What is the area enclosed between the curves :

y? = 12x and the lines x =0 and y =67 ' .(‘a) x—in X+ ¢

(aL)r ‘2 square units ) K (b) x-—In(tanx) + ¢

(b} 4 square units | ) x-In(1+ e")k s

(¢) 6 square units ‘ . (@) In (1+e%+c |
(d) 8 square units ' i . ' where ¢ is a constant of integration.

Q-OEBA-K-NBU , (22 - A}


























































